A £ 0l & AF & S

Al A

FA: Aot AIE A
B Dz ASIATAHIA M2
ol Olsgsk 22 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Aot=EAI A 39,178,445 47,566,100 8,387,655
= 9,967,000
[ 428,000
= 5,569,900
Ea 23,213,545
=2 doteTAHIA MBS 38,634,624 47,005,976 A\8,371,352
= 9,967,000
[ 428,000
= 5,569,900
= 22,609,724
OtSd== 2el 1,064,412 1,232,958 A178,546
= 370,000
o 684,412
Otedsr RA 2= A 363,412 536,958 173,546
201 er2 3| 222,516 231,290 N8,774
01 AtR2te|HI 211,716 220,290 A8,574
O Oisdsk 28I MNer2 130,320
O =% 28I =&
70,0002 x6H #33] 1,260
O +=%2 SEZ20M Mz
2002 *10,8000H+90/ 100 1,944
O Oisd+=k Me=X FAES
240,000 %1810 A+25%90/100 78,192
02 s3=gHl 10,800 11,000 A200
O Xl (40H) 10,800
202 04l 2,940 4,704 A1,764
01 2LHoIH 2,940 4,704 N1,764
O 228 30l
70,0002 x5H %122 %70/100 2,940
206 MH=H| 7,020 7,200 A180
01 M=4l 7,020 7,200 A180
O Oi2dsr AS2%E (1H)
160,000 *52+ A+90/100 720
O Oi2ddsE AS%E (UH)
7,000,000& *90/100 6,300
401 Al HIZ 2018 130,936 293,764 162,828
01 Al&H| 130,000 292,200 162,200
O Oiea=k RAE 130,000
03 AIZ S THYI 936 1,564 A628
O Oisd+k RAE
130,000,000& *0.72/100 936
Oledst A2 £XAY 120,000 125,000 25,000
201 =3 40,000 40,000 0
01 At2t2lt] 40,000 0 40,000
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FA: Aot AIE A
B Dz ASIATAHIA M2
el Oisd=s 2l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O AR2 328 H2H3 szl 89
10,000, 000& *43] 40,000
401 AlEHIZ S 0HbI 80,000 85,000 /5,000
01 AlZH| 79,144 84,188 Ab,044
O Oisds=k A5AE 21 € 2+ 49,465
O tSd+=x =2 I8 & & B+ 29,679
03 A2 20HHI 856 812 44
O D244 ASAlE 83 2 24
49,465,0002 1.08/100 535
O Di244E +BFEIX &1 L 24
29,679,000 +1.08/100 321
A2 SELESSHAIE HAISE (HEALY) 571,000 571,000 0
== 370,000
[Ea 201,000
401 A2 HIRL 201 571,000 571,000 0
< 370,000
s 201,000
01 Al&H| 567,425 567,425 0
O a2 =EAE JHEAMY = dE 567,425
= 370,000
o 197,425
03 AlZ = THHI 3,575 3,575 0
O A2 =EAE HEAY
567,425,000& +0.63/100 3,575
Agate=2 2tel 5,982,456 11,423,000 A5,440,544
= 428,000
=S 4,423,200
s 1,131,256
SHE M3 HLAI (S ) (HEALY) 4,365,456 5,934,000 1,568,544
== 3,760,000
[Ea 605,456
401 AIEHIZ R HYI 4,365,456 5,934,000 1,568,544
< 3,760,000
s 605,456
01 Al&H| 4,043,608 5,690,447 1,646,839
O =ht, 38 sEHESs LA
= M3t 4,043,608
= 3,760,000
Ea 283,608
02 Zeltl 310,900 229,326 81,574
O 3phZHH sEdE8s = de 310,900
03 Al 20HHI 10,948 14,227 23,279
O sia ZHY SEMBRS = F8
4,054,556,000%0.27/100& 10,948
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FA: Aot AIE A
B Dz ASIATAHIA M2
coelr N 22 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ANSY HEAEE 3 104,000 54,000 50,000
= 31,200
= 72,800
401 AlZHIZ S 0HbI 104,000 54,000 50,000
= 31,200
[Ea 72,800
01 A28l 104,000 54,000 50,000
O ANSH UaAe=s JLESEES
20,800,000 *5I 2 104,000
== 31,200
[Ea 72,800
LE M2 ZHIARY (D4X7) 713,000 2,830,000 A2,117,000
= 428,000
== 72,000
o 213,000
401 AIEHIZ SR 0HYI 713,000 2,830,000 A2,117,000
= 428,000
S 72,000
o 213,000
01 A28l 713,000 2,830,000 A2,117,000
O 232 2422 FHIAY (RAXF) 713,000
[ 428,000
= 72,000
Ea 213,000
SHE M3 HLAL(SHY)(HEAIY) 800,000 0 800,000
== 560,000
o 240,000
401 AIEHIZ SR 0HYI 800,000 0 800,000
< 560,000
= 240,000
01 Al&H| 794,960 0 794,960
O Sdt sEYES+ LAY = =8 794,960
= 560,000
= 234,960
03 AIZ S THYI 5,040 0 5,040
O S4T SE2ME24 LAY = F8
800,000,000+0.63/100 5,040
ot=Z 2| 31,208,098 34,305,766 A3,097,668
= 9,967,000
= 776,700
o 20,464,398
S3otHelAlE 2 2 9,8%,177 9,952,716 /58,539
== 253,000
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FA: Aot AIE A
3 Z=2 dot=ZAHlA MBS
= e - EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 9,641,177
201 er23y| 7,850 36,151 /28,301
01 AtR2t2|HI 2,450 2,450 0
O SHHERRS =& 1,470
O &30tk ASdudEdt Avse 980
2 35244l 5,400 33,701 /28,301
O &= &ot==83l sbl(ot+==) 5,300
O ot sHYMI|BNE BEZ 100
202 048l 3,528 4,116 588
01 201 3.528 4,116 1588
O Bi+EE BRI
70,0002 +62 * 123 +70/100 3,528
307 212+01& 9,522,799 9,522,799 0
& 253,000
= 9,269,799
05 2IMRIE S 9,522,799 9,522,799 0
O =cdXA2eHelAld 22 =S 1,967,000
O S3at==HMelAIZ(BT0) 2ItAAES 7,585,799
S 253,000
o 7,302,799
401 AIEHIZ R OHYI 360,000 360,000
01 Al&HI 360,000 360,000
O =Z2HAIAE(TMS) FXI2tel 360,000
2712 S3ote=HelAld 2 2el 3,429,228 2,621,175 808,053
201 er23 | 738,188 733,268 4,920
01 At2teltl 17,420 12,500 4,920
O 272 S3ot=k ASEUHEI} A2
=g 100,000 +5& 500
O ot=XclAle RABHIAIAE ALSE 16,920
02 s3=gHl 720,768 720,768 0
O ot=XclAlE HUEEE 25
5,064,000& ~12& 60,768
O 412 S3ot==xclAld &JIes
55,000,000& 123 660,000
307 gl2to| & 1,825,280 1,523,000 302,280
05 212t =S 1,825,280 1,523,000 302,280
O 472 S3ct=HelAld 22tEs 1,825,280
401 AIEHIZ SR OHYI 865,760 365,750 510,010
01 Al&HI 865,760 365,750 510,010
O A72 S3ot=xelAld Jledd XX
At e 800,000
O A2 E3ot=XclAlE o2t Jl=
alt 65,760
JIEZE3ote=E RA&CIAE 1,254,500 1,765,500 A511,000
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SM: BT AR A
BN IEe ASECAHIA M3
&t o=k 2tel (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 153,200
s 1,101,300
401 AlIEHIZL 2 0HYI 1,254,500 1,765,500 A511,000
= 153,200
[ia 1,101,300
01 AlZH| 1,254,500 1,765,500 A511,000
O BTE4E P4 2 SN 500,000
O BI4E B+l Z2HA 8
100,000 +405A 40,500
O XIotAIZ= XIEHE A 16,000
< 3,200
s 12,800
O 2SHaI2T TOHIY HLA 500,000
O 87 HUNOIZ S4B BaAY
(ZOIE0{014) 48,000
O 87 So0I2 51422 FYA
(& NSYURE FOIR0{0)4) 150,000
= 150,000
2 AUE XA (BTL) G2t 29 901,600 901,600 0
201 Zet2& ] 1,600 1,600
01 AtR2telbl 1,600 1,600
O SnEIIRARE 22 1,600
307 212to1™ 900,000 900,000
05 eizte(& = 900,000 900,000
O 2FYHHE BIXAIRIEIL)5H20] 29 900,000
St &X 2 2ol (Sh=21EH 2FBILYUE) 4,267,000 4,267,000 0
= 2,973,000
= 127,000
s 1,167,000
201 L2 4,267,000 4,267,000 0
= 2,973,000
< 127,000
T 1,167,000
01 AtR2telbl 4,267,000 4,267,000 0
O 2= BTL &= 4,267,000
= 2,973,000
S 127,000
[ia 1,167,000
JIE ot=ZAldE HYSX2L 10,000 10,000 0
401 AlIEHIZL 2 0HY| 10,000 10,000
01 Al=H| 10,000 10,000
O JlE SHCAEE BYUBT 2 10,000
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FA: Aot AIE A
3 Z=2 dot=ZAHlA MBS
= e - EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
?P—’F_'.:_ X % el (sHENSo=E8HI-S&28H 3,234,125 4,782,875 1,548,750
= 3,062,000
Ea 172,125
401 AIEHIX S0 3,234,125 4,782,875 1,548,750
= 3,062,000
o 172,125
01 A28l 2,824,317 4,571,446 A1,747,129
O S&2H Ot=ot+=T FHIAE 2,824,317
= 2,662,000
[Ea 162,317
02 Zeltl 400,000 200,000 200,000
O SE2HH OtSot== FHIAY 400,000
= 400,000
03 Al 20HHI 9,808 1,429 A1,621
O &2 Ot=ot+E dUlAe 9,808
St A1 L B2l (S0EDISoHEZHI-HELX 397,000 1,156,000 759,000
)
= 397,000
401 Al HIZL S 0HYI 397,000 1,156,000 A759,000
= 397,000
01 AlZ2H| 397,000 952,570 A555,570
O U=E4HKI+ Dot SHIAE 397,000
= 397,000
a2 OIMXISY ot HMel2d 2,000,000 2,400,000 400,000
201 eer23y| 2,000,000 2,400,000 400,000
02 S3=gl 2,000,000 2,400,000 A400,000
O && 0IMXIS ot=% Xl 2,000,000
St== Xl 2 2l (Gh+Z=HHI-ST2eHH) 600,000 2,094,000 1,494,000
= 133,000
= 18,700
Ea 448,300
401 AIEHIX R0 600,000 2,094,000 21,494,000
= 133,000
= 18,700
= 448,300
01 Al&H| 595,710 1,887,206 1,291,496
O S&2EH o222 FJHIAY 595,710
= 133,000
< 18,700
s 444,010
03 A2 THYI 4,290 6,794 A2,504
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FA: Aot AIE A
B Dz ASIETAHIA M2
&t o=k 2tel (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O 8®2e st422 HolA
595,710,000& +0.72/100 4,290
ST AXl o B2l (S0EDISoHEHHI-RBET 3,742,437 787,000 2,965,437
)
= 2,452,000
s 1,290,437
401 AIEHIZ SR HYI 3,742,437 787,000 2,955,437
= 2,452,000
Ea 1,290,437
01 Al&HI 3,333,429 583,325 2,750,104
O HEE& Olsote=X HHIA 3,333,429
= 2,452,000
= 881,429
02 Zeltl 400,000 200,000 200,000
O 2YgE OiSdt=k MY 400,000
03 AlESTHYI 9,008 3,675 5,333
O HEE& Ot=ot=x FHIAE 9,008
St=& &Xl 2 22l (sHE0SoH==FHI-8EXH) 144,030 143,000 1,030
= 100,000
= 44,030
401 Al HIZL 201 144,030 143,000 1,030
= 100,000
o 44,030
01 Al&H| 143,000 141,977 1,023
O E& (t=ot== A 143,000
= 100,000
o 43,000
03 Al 20HHI 1,030 1,023 7
O E& OtSot== ZHIAE
143,000,000& +0.72/100 1,030
2% S3otexcld SEAMY 367,000 651,000 204,000
= 250,000
< 53,500
[Ea 53,500
401 Al HIZL S 0HYI 367,000 651,000 204,000
= 250,000
=S 53,500
s 53,500
01 AlZ8| 364,448 646,924 AN2R,476
O 42 SSot=Held SEAE 364,448
= 250,000
= 53,500
o 50,948

_863_




FA: Aot AIE A
B Dz ASIETAHIA M2
el otk 2l (SH9 H2)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
03 A& S CHYI 2,552 4,076 1,524
O 422 SEot=Hcly SEAE 2,552
adl ==ol+2=2 FHIAE 143,001 150,000 26,999
= 100,000
= 4,300
= 38,701
401 Al HIZL 201 143,001 150,000 26,999
= 100,000
< 4,300
[Ea 38,701
01 A&l 141,978 150,000 28,022
O &dl ==ot=2=2 ZHIA 141,978
= 100,000
s 4,300
a 37,678
03 A& CHYI 1,023 0 1,023
O &dl ==ot=2=2 ZHIA
141,978,000 *0.72/100 1,023
St== &Xl ¥ 2el(s0HE0Sot== FH|-THOHXIF) 167,000 500,000 A333,000
= 100,000
& 33,500
= 33,500
401 Al HIZL 201 167,000 500,000 A333,000
= 100,000
< 33,500
[Ea 33,500
01 A<l 165,806 496,425 A330,619
O CHOFXI=* DtSot=== EHIA 165,806
= 100,000
=S 33,500
s 32,306
03 AIE 2 CHHI 1,194 3,575 2,381
O UOXI+* OtSot== EHIAIE
165,806,000 *0.72/100 1,194
St== 4Xl ¥ Zel(sHE0SotS FH|-0tX|F) 167,000 500,000 A333,000
= 100,000
< 33,500
s 33,500
401 Al HIZL 01| 167,000 500,000 A333,000
= 100,000
== 33,500
[Ea 33,500
01 A<l 165,806 496,425 A330,619
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Aot A A
=2 Yot AHlA MBS
ot 22l 2 HA)
SA - B - SRUBH) - MRAR - BAS A HIDEZ
O ==2tX|7* OtSot== gl 165,806
= 100,000
== 33,500
[Ea 32,306
03 Al 20HHI 1,194 3,575 N2,381
O ==2tX|7* OtSot== gl
165,806,000& *0.72/100 1,194
SSE L ot-dZ SHIAY 500,000 0 500,000
= 300,000
= 100,000
= 100,000
401 AIZHIZ S0 500,000 0 500,000
= 300,000
& 100,000
T 100,000
01 Al&H| 496,425 0 496,425
O 885 =0l SHIALE 496,425
= 300,000
== 100,000
o 96,425
03 Al 20HHI 3,575 0 3,575
O 355 =ol+=2= JHIAE
496,425,000& 0.72/100 3,575
aot= AN SOAY = 389,658 44,252 345,406
SOt ALY SetALY 389,658 44,252 345,406
201 Let=Ehl 60,140 38,820 21,320
01 AtR2t2|HI 60,140 38,820 21,320
O 224 g3l 35,820
-2 60,0002 x2EH*1162 13,920
-=5 60,0002 «1H+365& 21,900
O =) 7zl g2
110,000& %123 1,320
O SIIEEI| |X&el Hdx==2
110,000& » 122 1,320
O g4 E4% 2
90,0008 2522 360
O &ot=EAtA & OlAH HIZ 20,000
O == WEgI5TRH 0ld HIE 1,320
202 048l 7,518 5,432 2,086
01 SLHo4HI 7,518 5,432 2,086
O =Jtoilar == S0
20,0002 x5Z x152]+70/100 1,050
O +ER38 &
70,0002 x4 %122 %70/100 2,352
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